Use tree diagrams to calculate probabilities of combinations of independent events

	
	
	
P(one of each colour)

	
P(red first, then green)
	
	The probability that Bob is late on Tuesday is 2/5.  The probability that Bob is late on Wednesday is 3/8.  What is the probability he is late on both days?

	




P(both same colour)
	The probability that Bob is late on Tuesday is 2/5.  The probability that Bob is late on Wednesday is 3/8.  What is the probability he is late on Tuesday but not Wednesday?
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